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English
How is the word “enough” used in these
two sentences?
(i) These is time ‘enough’ and to spare.
(ii) You know well ‘enough’whatlmean.
Ans.—Adjective and Adverb.

Use Correct words in place of bold
letters given in these two sentences.

(i) It is better to seek advice from a
financial CONSULTANT on how to
SAFE your business.

Ans.—Write secure in place of safe.

(ii) On two CONSECUTIVE nights two
greatest ICONES of show business
were honoured with
UNPRECEDENTED AFFECTION.

Ans.—ICONES = ICONE

Public declaration by a political party of
Principles and Policy is called

— Manifesto

Custom having more than one husband
at the same time

— Polyandary.
Complete the sentences.

(i) Tonight's game was ........ because of
the rain.

Ans.—Called—off.

(1) R having worked really hard
in office, Vikas did not get the much
expected promotion.

Ans.—Despite off.

Nearest in meaning.

(i) Premium — Ans.—Superior.

Meaning of Exhort

Ans.—Encourage.

Write opposite meaning,

Established — Ans.—New.

11.
120

13.

14.

15.

16.

17.
18.
19.

Affluent —
Correct meaning.

Ans.—Poor.

(i) His behaviour compelled me to give
him a piece of my mind —
Ans.—Scold him.
In black and white  Ans.— In writing
In the following passage, there are blank
space which have been numbered.
These numbers are printed below the
passage and against each, four words are
suggested, one of which fits
appropriately.
The emperor of China had (14) Some
peaches to the king of Turkey with a note
(15) that the families gives long life to
anyone who eats them. As the fruits were
being shown to the ruler Ram giving into
the temptation (16) Up one of the lucious
peaches and bit into it.
(A) parcel (B) grown (C) bought (D) sent
Ans.—(D) sent.
(A) stating (B) attach (c) stuck (d) telling
Ans.—(A) stating.
(A) reached (B) picked (C) take (D) secure

Ans.—(B) picked.
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